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Can I determine the extent {favorability) of 2 chemical reaction?

Write the equilibrium expression for the following chemical reactions.
1. Foreach ofthe following, provide a Kc and 3 Kp expression.

2. Afag) +Bfsy <> C(g)
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e. PbSO4{s) <> ﬁbﬁ’; T+ 50‘?—2' (provide balanced dissolving equation)
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2. Areaction that goes Te-greatly to exient produces a lot of @ B— S
¢Productyreactants) C

=

3. Areaction that is product favored will have a{
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4. Question 1d above has a K value = 1.0E-5 and 1e has a K value = 6.3E-7.
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a.  Which reaction will produce more product at equilibrium? z i//’?
' b Isthe answer from Jetter @ considered product favorad? . Vi
‘ K=10OE-S i5 lessthan | and i3 ;@f@% o
5. Reaction A(s} + B(ag) <> 2C{aq) chant &uﬁ?{é{: e . .
2. Top beaker has a K = 1.0 £.10- TEACTR 2
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b. Bottom beaker has k=10 /%k - S ==
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Draw the beaker at equilibrium /
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